HEEK - EEFRE R (P2)

e S AN Rk 3R s

TYL

%9@ “‘ I.I.I.!'llll 1:4"'
B4zt HEf:20221210 B (L |Sets| 1 | 2 | 3 5 |Total
A SEEE | 0 [21]23 |20 64
BRE: mse e =]k | 3 |25 [ 25 | 25 75
ELEISRE] - Ba#R: 17:00 4 o 1832 FEAG 01032 HBIEFERE| 28 | 28 | 26 82
[BHI: R BHUS (BT, R2BEE (EET
%72\‘&@% ;—ing'uli 5 I?Oizt 5 %jt@?% 51 I?Oizt 5
BEEETR 3 6 || 5 |oH|RFFET 10 4 2 16
(a)|or| 254 2 11 || 7 |on|FhZ 4 7 5 16
5 |oH| FER & 6] 1 1 ||8|s |[BEE
6 |oH| PR 1 11 || 9 |me|HAE 3 3 4 10
7 |MB| =T 3 ||10[0P|[FE
8 |oH|FFE 6 13 ||11|oP|Bia 6 10
10| L [5F5e= LLL (19 s |[EAE 1 2
11| S |5 6|6l 13|MB| 2L FE
12|OH| S4BT 4 ||14|vB|Gabi 14 3 8
13|s |ZE= e 15| L |Bfaf
14|oH|FFEZE 16|MB| EH L
16|MB|E =% 18| L |BPE5HE LLL
20|OP| A E. 2 2 ||19|oH|FRIEHE
KGR TR T T
inp e BB v T, e
BRI E RN
@ | s |No % 57 @5 | HB No %
43 129 |2 52 116 |[&%
10 26 4 F T 15 30 7 PREF
10 40 6 [EXIE 14 33 5 BEGF
10 23 8 TLHE 10 24 9 Hal&
s 8 1= 6 TS
3 7 8 EHLE s 3 7 14 Gabi
2 7 1 BREE(R A 2 2 11 Bia
1 o |4 =@ 1 1|5 =347
0 6 |=% 4 3 |ER
2 18 14 Gabi
R : 12 |5 =35
1 12 7 MET
13 =K HEES 13 =5
51 238 [£F & 62 206 [£F
13 37 8 =XE 16 46 5 554
11 47 |4 =3 BEES 16 44 |7 HEH
1 52 6 [EXIE 10 32 11 Bia

FHLEEREE: FKR [SET]

&4

EScore : Standard (2022-10-17)

2022-12-1517:03




